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B41_E6_9C_c84_120769.htm Part I Listening Comprehension (20

minutes) Section A Directions: In this section, you will hear 10 short

conversations. At the end of each conversation, a question will be

asked about what was said. Both the conversation and the question

will be spoken only once. After each question there will be a pause.

During the pause, you must read the four choices marked A), B), C)

and D), and decide which is the best answer. Then mark the

corresponding letter on the Answer Sheet with a single line through

the center. Example: You will hear: You will read: A) 2 hours. B) 3

hours. C) 4 hours. D) 5 hours. From the conversation we know that

the two were talking about some work they will start at 9 o’clock in

the morning and have to finish at 2 in the afternoon. Therefore, D) 

“5 hours” is the correct answer. You should choose [D] on the

Answer Sheet and mark it with a single line through the center.

Sample Answer [A] [B] [C] [D] 1. A) She was given a new job. B)

She was given a raise. C) She was criticized for being late. D) She was

praised for her hard work. 2. A) Whether to employ the woman. B)

Whether to take up the new job. C) Whether to ask for a raise. D)

Whether to buy a new house. 3. A) A teacher. B) A psychologist. C)

A librarian. D) A publisher. 4. A) To visit more places in the city. B)

To take a lot of pictures of the beautiful city. C) To take some

pictures of his friends. D) To spare some time to meet his friends. 5.

A) In town. B) Out of town. C) In the man’s house. D) Outside



Ann’s house. 6. A) Because she wants to avoid meeting people. B)

Because she wants to avoid meeting people. C) Because she wants to

smoke a cigarette outside. D) Because she doesn’t like the smell of

smoke inside. 7. A) Painters hired by the man and woman. B)

Painters hired by Mr. Jones. C) Mr. Jones. D) The man and the

woman. 8. A) The woman enjoyed the movie very much. B) The

woman saw a horror movie. C) The man asked the woman to be

careful at night. D) The man went to the show with the woman. 9. A)

He doesn’t write well enough. B) He is not a professional writer. C)

He hasn’t got any professional experience. D) He didn’t perform

well in the interview. 10. A) He doesn’t think it necessary to refuel

the car. B) He can manage to get the gasoline they need. C) He

hopes the woman will help him 0select a fuel. D) He thinks it is

difficult to get fuel for the car. Section B Directions: In this section,

you will hear 3 short passages. At the end of each passage, you will

hear some questions. Both the passage and the questions will be

spoken only once. After you hear a question, you must choose the

best answer from the four choices marked A), B), C) and D). Then

mark the corresponding letter on the Answer Sheet with a single line

through the center. Passage one Question 11 to 13 are based on the

passage you have just heard. 11. A) Because they can’t afford to. B)

Because they think small houses are more comfortable to live in. C)

Because big houses are usually built in the countryside. D) Because

they prefer apartments. 12. A) Because many young people have

moved into comfortable apartments. B) Because many old houses in

the bad part of the town are not inhabited. C) Because many older



people sell their houses after their children leave. D) Because many

people have quit their old houses to build new ones. 13. A) They

have to do their own maintenance. B) They have to furnish their own

houses. C) They will find it difficult to make the rest of the payment.

D) They will find it difficult to dispose of their old-style furniture.

Passage Two Questions 14 to 16 are based on the passage you have

just heard. 14. A) They are not active hunters. B) They don’t sleep

much. C) They are often seen alone. D) They don’t eat much. 15.

A) To catch the birds. B) To look for shade in the heat of the day. C)

To catch other animals. D) To look for a kill made by another

animal. 16. A) They are larger in size. B) They run faster. C) They

have to hunt more to feed the young. D) They are not as lazy as the

males. Passage Three Questions 17 to 20 are based on the passage

you have just heard. 17. A) Less than 30 minutes. B) From 30 to 45

minutes. C) At least 45 minutes. D) More than 45 minutes. 18. A)

He should show respect for the interviewer. B) He should show

confidence in himself. C) He should talk enthusiastically. D) He

should be dressed properly. 19. A) Speaking confidently but not

aggressively. B) Talking loudly to give a lasting impression. C)

Talking a lot about the job. D) Speaking politely and emotionally.

20. A) Professional knowledge is a decisive factor in job interview. B)

Finding a job is more difficult than one can imagine. C) A job seeker

should create a good image during an interview. D) Self-confidence

is most important for a job seeker. 100Test 下载频道开通，各类考
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